Group 1

Table3 C Rank
L & 3 11 | 10 3
Ryt ERE 3w w 1
e 3 15| 6 2
Group 2
Table1 SL A B C Rank
A0 3 10 | 6 3
INEFSF SNIE 30w w 1
=4 EXEB 3 W 6 2
Group 3
Table6 SL A B C Rank
EFEL 2 w w 1
it phHhy 2 6 8 3
Z2H 15E 4 13| w 2
Group 4
Table8 SL A B C Rank
=) g 3 5 | 9 3
a0 7% 3w w 1
SRS 3 0w | 14 2




Group 5

Table11 C W - L |[Rank
Wik EF 2 3 3 o - 2|3
F I =F4-] 3 0w w |2 - 0]1
F8K Bz 2 w | 10 1 1| 2
Group 6
Table13 SL A B C w L | Rank
Hl& 15 5] 2 w | 9 |1 -1]2
% 18F 3 13 6 |0 - 2|3
=8 Ih— 2 0w | w 2 - 0| 1
Group 7
Table16 SL A B C W - L |Rank
ik nNE 3 6 | 3 |0 - 2|3
PE Hpr 3 0w W |2 -0]1
=M EFE 2 0w | 4 1 1] 2
Group 8
Table2 SL A B C W - L |Rank
i) B 3 w |l wl2-o0]1
K 12 XKER 3 3 7 |0 - 2|3
FIx HE 2 4 | w 1 - 1] 2




Group 9

9 Table5 C Rank
A ZE MY 2 7 | w 1
B # 1IE1E 3w 11 2
C fRE BURk 3 12| w 2
Group 10
10 Table7 SL A B C Rank
A WLIE & 2 n | 7 3
s PBHWE | 3w w 1
C TR ES 3 w | 8 2
Group 11
1" Table10 SL A B C Rank
A R Eh 2 9 | W 2
B v 2 0w w 1
C HERD E 3 14| 6 3
Group 12
12 Table12 SL A B C Rank
A AR E1T 4 16 | 6 3
B E 55 Mg 1w 4 2
C I & 3w | w 1




Group 13

13 Table15 C Rank
A =Bz 2 3 | 9 3
B &30 ARF 3w 3 2
C Ak 1545 2w | w 1
Group 14
14 Table17 SL A B C Rank
A e THTR e ) 3 w | 4 2
B SHEX 3 5 11 3
C INEFEXR 3 0w | w 1
Group 15
15 Table18 SL A B C Rank
A LEET BX 3 w 8 2
B LI ﬂ%{: 4 18 14 3
C e (RE 2w | w 1
Group 16
16 Table20 SL A B C Rank
A AT #E= 2 4 3 3
B I EBE 2w 10 2
C 13 BF 3 w | W 1




Group 17

A B8 BT 3 8§ | W [ 1 - 11
B Wil 52 30w 301 - 12
C e Kt 2 5 | w 1 - 1|2
Group 18
_ SL A | B | C [W - L [Rak
A =iE FE 2 W | W |2 - 0|1
B =1=F." 2 n 3 |0 - 2|3
C EHEA 4 7 | w 1 - 1|2
Group 19
19]  Table2s  [sL A [ B [ c [w - L [ra
A R 28X 2 w11 |1 - 1]2
B AN 1L SPER 3 9 w1 - 1]2

C SHZE 3 0w | 9 1 - 1|1




Group 21

21 Table3 C Rank
A MR XK 2 1 | 10 3
B HEE KitE 2w w 1
C SH ABE 3w | 13 2
Group 22
22 Table1 SL A B C Rank
A EZ#WME 2 5 | W 1
B EREH B A 3w 13 2
C N RE 3 12| w 2
Group 23
23 Table6 SL A B C Rank
A ik S0 2 w | w 1
B AR EE 3 13 1 3
« il &R 2 9 | w 2
Group 24
24 Table8 SL A B C Rank
A 2 3 w | 8 7 2




Group 25

25 Table11 C Rank
A P EIE 3 W | 5 1
B SESE )1 2 5 w 2
C S HT 3 14| w 2
Group 26
26 Table13 SL A B C Rank
A kH XS 3 9 | W 2
B SE ERF 3 0w w 1
C (LR BERE 1 6 | 7 3
Group 27
27 Table16 SL A B C Rank
A RER 5=ofE 2 6 | W 1
B A0 XF 3 0w 14 2
C L ¥2 2 10 2
Group 28
28 Table2 SL A C Rank
A = HEF 3 5 7 3
B SR Zaid 3w 15 1
C % 35 2w | 9 2




Group 29

29 Table5 Rank
A TiE — 3 13 2
B AR BA 3. 0w 1
C X EFE 2 7 | 1 3
Group 30
30 Table?7 SL A B Rank
A *lel EEJ 2 11 2
B|  $5EF fEKHR 4 16 1
C =H E&) 3 w 8 2
Group 31
31 Table10 SL A B Rank
A Rk &= 2 w 1
B SRR K 2 9 2
C 8 EEF 3 14| 6 3
Group 32
32 Table12 SL A B Rank
A &HE— 2 10 3
B AllEA 2w 2
c| BERZEWL 3w | w 1




Group 33

33 Table15

A B &H<H 2 10 | 1 0 - 2| 2

. WO RA 30w

Group 34

34 Table17 C w L | Rank
A SRS 3 W | w |2 - 0]H1
B =1 it 3 8 wl1-1]2
C H E0F 0 - 2|3

Group 35

35 Table18 C | w L | Rank
A B BE 3 W | w |2 -0]n1
B FRHT EF 2 5 W |1 - 1]2
C LEH BE 4 5 7 0 2 | 3
Group 36
36 Table20 SL ? B C | w L |Rank
A HEfk BiiE 3 w | 131 - 1]2
B HE X 2 10 8 |0 - 23
C B BF 3 0w | w 2 - 0| 1




Group 37

37 Table21 C Rank
A 55 g 3 w | 7 2
8| RBJIIRE 4 18 w 2
C B K 3 w | 14 1
Group 38
38 Table22 SL A B C Rank
A 4+ #E 3 1w | w 2
B & —3E 4 W w 1
. HEtR F1Z 3 10| 5 3
Group 39
39 Table23 SL A B C Rank
A Rk KBF 2 w | 10 2
B JE 3 12 12 3
C HO BB= 2w | w 1
Group 40
40 Table25 SL A B C Rank
A RE ¢ 2 w | w 1
B IZNKK E B 2 3 w 2
C ZHEE 2 1| 8 3




Group 41

a1 Table16 C Rank
A AR EA 2 w | w 1
B hnEE &R 3 M w 2
C =T B 3 6 7 3
Group 42
42 Table17 SL A B C Rank
A IRF EX 2 w | w 1
8| AHEDYE 3.1 8 3
C Xiz &5iF 3 2 | w 2
Group 43
43 Table18 SL A B C Rank
A S [l 3 wo| w 1
B =i EA 4 8 12 3
C P9 EE 2 7 | w 2
Group 44
44 Table20 SL A B C Rank
Al i HEF 2 13| w 2
B {hiE Pk 1w w 1
C i )EEIES 3 13| 8 3




Group 45

45 Table21 C Rank
A AR 2 5 | w 2
B HEH KE 2w 1 1
C =K RF 2 8 | w 2
Group 46
46 Table22 SL A B C Rank
A JEs IS 3 w | 14 2
B K% KEh 309 w 2
C INFAK DRBINES 3 w | 3 1
Group 47
47 Table23 SL A B C Rank
A AR ES 3 10 | 14 3
B N B+ 4 w 8 2
C =R X 3 0w | w 1
Group 48
48 Table25 SL A B C Rank
A tH BE 3 w | w 1
B RH #ht 2 9 w 2
C RO & 4 16 | 8 3




